E+n

145 2-(

x 10"

E+3 x 1000

30

(kg/ )

(kg/ )

3.0E+0

3.0

3.0

Olo|N|ojo|~|lw|N]|F-

=
o

1.0E-1

0.1

0.1

[N
[N

6.0E-1

0.6

3.2E+1

2.0E+3

2,032.0

2,032.6

=
N

[N
w

=
SN

2.1E+0

2.1

3.2E+0

3.2

5.3

[N
(8]

=
»

[N
-~

=
(o]

3.0E+0

3.0

3.0

[N
[{e]

N
o

N
[

N
N

N
w

N
S

9.0E+0

9.0

9.0

]
al

24E+2

240.0

240.0

N
»

N
-~

4.0E-1

1.2E+1

124

124

N
©

N
[{e]

w
o

w
-

w
N

w
w

w
S

w
a1

4.3E+3

4,300.0

4,300.0

w
»

w
~

w
©

w
o

iy
o

N
=

S
N

I
@

N
SN

IS
ol

N
»

N
k]

2.5E+2

1.0E-1

245.8

3.2E+1

6.3E+3

6,359.6

6,605.4

[
A




